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Uruulru hurdrulhplr 2024p. plrr- 2hfr {up2u11uL riuru}r h\ulfmurhhpf uuph\urb 4 915 625 800

4pru urnru2ur4prutrplr 4]llurg rlnuur.nurgfr r.Imrnptpp \urqrftl htr 2 362 133 067 4pu,nl, \uil l-}rtr

\fuurdlur\|r rlmuphplr urnur2iu4purhpp llutnurp{hl L 48,1 o/o-nrl, np}rg uh{tur\urh

b\ullmurhhpfr urnur2ru4pruhpp' 1 803 087 700 4pullfr 4|rdurg \ulnurprlty t 806 373 667 4puril

lrud \unnup{L1 l- 44,7 o/o-nr{ 
:

l.Zurp\ur1[r t\uninunLhp

Zurp\rulfrh h\unfmrnhhpfr qbnrl rnu,rpr{ur huniurp Lur}uu:urtu{urb 1296 874,4 hurqurp

4pudfr 4|nlurg rlrururnurglr ilnr-urptpp \ruqdhl hb 500 134,3 hurqu:p 4puril, \u:il rlmrnphplr

urnur2ur4pruLpp \uruurpr{t1 t 38,6 o/o-nt{, ur34 pr{mtt urh2urpd qntlpfr hurp\fr urnur2ur4purLpj

\ulnurpr{h1 L 33,6 o/o-m{, qnr3purhurp\ r}rn}uurqpullfr2ngLhpfrg' 35,0 o/o-m{, r.ntrlu:\u:h

rnmpphpp 96,8 o/o-n{, ulhnur\urh rnnLFphFE 70,1 o/o-nrl:

Strlur\ruh rnrr pphplr urnur2ur4putrpp' tnurpr{ru hu:rlu:p hur}uu,u.nhut{ub 90 846,0 hurqurp

4purdfr 4]liurg $ururnurglr dmurptpp \urqrihl htr 87 950,6 hu:qurp 4purtl:

'rlhurur\urh urmpphplr tunur2ur4pruhpg trurfuu.rurhur{urb 20 000,0 hurq. 4puril}r +t .i-g
rfrurunugfr \urqtfhl t 14 010,2 huqurp 4purr.I:

2.'Ilur2rnntur\urh rpuliur2bnphtrtp

nhrnur\urh p3nr2hlrg urpurdur4pr{nr1 ur31 4ntnurg}rur1}r h ump{hhg}rur1}r qbnrl $ruur.nurgf

tinnnphpp \urqrfhl htr 1 554 160,2 hurqurp 4puni:

3.U11 h\urdnrutrtp

U11 h\urilnr-urhhpfr urnur2ur4purhpp burluulnhurlurb 510 211,3 hurqurp 4purtlfr 4|rrlurg,

rlrururnurgfr rlmurphpp \urqrihl hL 307 838,58 hurqurp 4puli, \uli \ulnupr{h1 t 60,3 o/o-ml,

uml u Funlu

hnrlhpfr't{urpd,ur\ur1mp1mh}rg h\rurinnntrtpp 56,9 o/o-m{, urll qnllpF rlurp&ur\urprp3nr-Lfrg

h\ullnunhhpp 108,9 o/o-n{:



trurnr{frpur\{urb ft[uqnpmplnthhhpfr hunlurp qhurur\urh pSm2hfrg rlnturphpp \urqdhl hl-t

1 599,2 hruqurp 4purd 3 998,0 hurqurp 4pulllr 4|rrfurg :

4. Shqur\urh r{durphtpfr rlu:unrl p3nt2hn[i hur]uurr.nturlurb 406 583,6 hruqurp 4putf]t

4f[Iurg qurh&nnfLhpp \ruqrfhl hh 182 344, 96 hurqurp 4pu[I tlurd \ulnurprltl t 44,8 o/o, np]rg

urrpurhurhmplruh r{du:phhp}r rfurunr{ 168 050,0 hurqurp 4purti}r 4frdurg qurtr^{h1 t 82 048,6

hruqurp 4purr-i \unf \urtnurpr{t1 L 48,8 o/o-nr{: Zurdrultrp}r qunnr{hpnt{ rlurtr\urqurpurtqtrtpfr tr

urpmur4qpnguluh 4ruurnlnupr"u\nrpluh hr.luLnurtnnrp3nrtrtrbpfr \"lrlhg urtnmgr{urb

burnr.u3ntplmhhhplr 4fliurg bLnqur\urh {druphhpfr rluruml qurhdnttfp \uruurpr{t1L 38,8 o/o-nrl:

Uurluutn

2024 p. hunlurltrplr p3m2hfr r{rupyu\urh tiurufr 1-}rL \}ruulilur\fr bur}uuhpp \ulnurp{h1 hh

33,6 o/o-nrl' 4 9I5 625,8 hurqrup 4purtl urnur2ur4purLBll 4]llug \ulnurp{h1 t 1 654 128,03

hruqurp 4puril, npfrg' Euriuutpir pur.n bpurqptplr \urr.nurprlhl ttr

ru/ Ch4hrulrmp ptrmlpfr hurtrpurl|rtr burnurlntplnthhtpfr qbm{ bur}uutpp \ururu:pr{h1 t 33,5

o/o-nr{:

p/ Shurhuur\urh hurpurphpmp3mtrhhplr nlnptnmrl hurluurutu{urb bur}uuhpp \ulnurprlhl t
64,2 o/o-nf:

q/ Cp2ur\u rlfr2urrlu4pf qur2urqurhntplurL hullurp hurluruurtur{urb bur}uuhpp \ulnu:prlt1 k

43,6 o/o-nrl:

r1ltrhurllurprutrur3frtr 2]rhurpurpnrplmh Lr \mimLurl burnrulntplnth 4uruur\urpqrlunip

hu,rluurr.nturlurb burluuhpp \urtnurprlhy t 5 1, I o/o-nrl:

h/2urhqirur.n, ri2ur\m1p l-r \pnh 4uruul\urpqnuinr{ bur}uuhpg \ulnurprltl k 38,76 o/o-m{:

q/\ppnrpluL nppulr hur rup plnr2tm{ hur}uurnhurlurb bu:}uuhpp \ulnurpr.lhlt 42,87 o/o-nt\:

L/Ungfrurpu\url.r qru2urqurhmplu,rh hurr.furp hurluurr.nhur{urb bur}uuhpp \urtnurprlhl t 31,3 o/o-

nrl:

Uurufru hurlurlLplr 2024p. plnt2tlr $nfu4u1fh rlurulr ilnunphpp tnurpr{ur hunlurp

hurluurr"nhur{urb 4 886 988,6 hurqurp 4punf}r 4}nfurg \unnurpr{t1t I 483 986,1 hurqurp r1puil, np}g

ururphu\q1ir rlhugnp4p \urqritl k 850 087,616 hurqurp 4purti, qm3pfr h hn{r }rpugnulfrg

rfnrrnphpp' 437 949,1 hruqurp 4purd, \urqlnnu:1 qur2urntrur\urtr 4punlui2trnphtrbp 94965,97

hruqu,rp 4purrJ tr rrll dnunphp' 100 983,5 hruqrup qpud



2024 p. plnr2hlr Sn\ur1[h r.iruu]r burluuhpp \urqrfhl hb 921 911,9 hurqurp 4punf,

nFhs'

ur/ Zullur3trpfnllr Z*nB phu:\ul{ur3phpmrl nnnqrlurh hruriur\urpqtpfr h}nfhrutrnpnqrfurtr

hurr.Iu,rp 186 033,6 hurqurp qpu:d, qruqur$frllurgrfurtr ur2]ururnu:l,rphtpfr hullurp 96 201,2 hurqurp

4purrl, hu:riur3hpurl|rtr durhruqurphhhpfr hlnitrurtrnpnqrftuL hur urp' 448371,7 hurqurp 4pull,
pruqrfurpbur\urpurtr 2hhpbpfr rnurblrptrtpfr hlnlhurhnpnqrlurh hurifu:p' 78 565,8 hurqurp 4purtl,

2puqbhpfr hfrilLurhnpnqrftuh hulftup' 2 024,0 hurqu:p 4puril, hullurlhpfr qrtph pnlnp

plrru\urrlur3ptpfr {rn4ngtrhpfr lnrururlnpmplurh hulfur\urpqfr \urnmgriurh huir.Iup 34 373,8

hurqurp r1puli, hurilrultrpurSfrL hhpur\urlntplurh trurfuur4qpngur\urh mumdtrur\url:

hruuurunnntplnrhhhplr \urnmgiruh, hlrrihurhnpnqiluL hruilurp' 23 595,2 hurqup 4pull,
p/ huliurltrpurqhururpurtrlr, hurdurltrpurS|rtr hi-rpur\urlntplurtr ZnU9-htplr hu:rlurp rlurp2ur\urh

uurppullnpm tihplr, qm3pfr, tlhptbu:hhpfr, 2pulnurpugnlgh:tthntr, urphurl|rh $nrnnrlnylulfrtr

\ur3uihtrtpfr li urLrlrnurhqntp3urtr urqu:hm{rfurh uurpphp}r 3.hnp ptprlurtr hunftup bur}uuhpp

\ruqdhl hti 46 64I,9 hurqurp 4pulf,

q/ 2urr.Iurlhpmri hnp llunnt3gtrtpfr qnpbrup\ilurh l,rqunnur\nr{ trur}uurqbur-trur}uurhur2rlurl}rtr

iu2]uurr.nruhpbhplr a.hnp phpdurh hurr.Iu:p Eurluubpp \urqilhl hh 6 104, t hurqurp 4punl:
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